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Learning Goal 2.1 - Radicals Practice Test

Name:

Date:
1. The sum of V18 and 62 is 6. The sum of V27 and 6V3 is
A. 7V20 B. 92 A. 7V30 B. 93
C. 15V2 D. 18 C. 9v6 D. 15V3

2. The sum of V50 and V18 is 7. Which is equivalent to /402

A 217 B. 82 A - 3770 B. 2v30
C. 15V2 B 34 C. 4J/10 D. 10V2

3. The expression /200 is equivalent to
8. The expression 5v8 —3V/2 is equivalent

to
A. 25V8 B. 1002 ,
C. 2V10 D. 102 A7 B. 7V2 C. 2v6 D. /34

4. The expression /50 is equivalent to 9. The expression V33 is a number

between
A. 52 B. 25V2
A, 3and 9 B. 8and9
C. 25 D. 5/10
C. 9and 10 D. 46 and 47

5. The expression 5v/3 - /27 is equivalent
to

10. When V72 is expressed in simplest avb
form, what is the value of a?
A 8V3 B. -8/3

C. -2v3 D. 2U3 A6 B 2 C 3 D 8 ‘
|
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11. Expressed in simplest radical form, the

product of /6 .15 is

A. V90 B. 9V10
C. 3V10 D. 3V15

12. Which expression is equivalent to 790 ?

A. 16V10 B. 21V10
C. 709 D. V630

13. What is 2v/45 expressed in simplest
radical form?

5V5
185

3V5 B.
c. 6V5

A.

D.
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14. Which represents an irrational number?

A. 0 B. c. V3 D. Va

alw

15. Which does not represent a rational
number?

A 3 B. V7 C. V16 D. 029

16. Which is a rational number?

A VT B.\/1_8C.‘\/@ D. V20

17. Express V25 - 2V3 + V27 +2V9 in the

simplest radical form.
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